

# More $q$ -congruences from Singh's quadratic transformation

Victor J. W. Guo and Xin Zhao<sup>\*</sup>

School of Mathematics, Hangzhou Normal University, Hangzhou 311121, People's Republic of China  
jwguo@hznu.edu.cn, zhaoxin1@stu.hznu.edu.cn

**Abstract.** In a recent paper, the first author obtained some  $q$ -congruences for truncated  ${}_4\phi_3$  series from Singh's quadratic transformation. In this paper, by applying Singh's quadratic transformation again, we give some new  $q$ -congruences for truncated  ${}_3\phi_2$  series. We also propose several related conjectures on  $q$ -congruences for further study.

*Keywords:* cyclotomic polynomials;  $q$ -supercongruences; Singh's quadratic transformation; creative microscoping

*AMS Subject Classifications:* 33D15, 11A07, 11B65

## 1. Introduction

In 1997, Van Hamme [24, (H.2)] established the following amazing congruence: for any odd prime  $p$ ,

$$\sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k^3}{k!^3} \equiv \begin{cases} -\Gamma_p(1/4)^4 \pmod{p^2}, & \text{if } p \equiv 1 \pmod{4}, \\ 0 \pmod{p^2}, & \text{if } p \equiv 3 \pmod{4}, \end{cases} \quad (1.1)$$

where  $(a)_n = a(a+1) \cdots (a+n-1)$  stands for the Pochhammer symbol and  $\Gamma_p(x)$  denotes the  $p$ -adic Gamma function. A number of distinct generalizations of (1.1) have been given in [7, 9, 11, 12, 15, 18–20]. For example, the first author and Zudilin [9, Theorem 2] utilized the “creative microscoping” method introduced in [8] to give the following  $q$ -analogue of (1.1): modulo  $\Phi_n(q)^2$ ,

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2 (q^2; q^4)_k}{(q^2; q^2)_k^2 (q^4; q^4)_k} q^{2k} \equiv \begin{cases} \frac{(q^2; q^4)_{(n-1)/4}^2}{(q^4; q^4)_{(n-1)/4}^2} q^{(n-1)/2} & \text{if } n \equiv 1 \pmod{4}, \\ 0 & \text{if } n \equiv 3 \pmod{4}. \end{cases}$$

Here and in what follows,  $(a; q)_n = (1-a)(1-aq) \cdots (1-aq^{n-1})$  denotes the  $q$ -shifted factorial,  $[n] = (1-q^n)/(1-q)$  is the  $q$ -integer, and  $\Phi_n(q)$  represents the  $n$ -th cyclotomic polynomial in  $q$ , which can be factorized as follows:

$$\Phi_n(q) = \prod_{\substack{1 \leq k \leq n \\ \gcd(n,k)=1}} (q - \zeta^k),$$

---

<sup>\*</sup>Corresponding author.

where  $\zeta$  is an  $n$ -th primitive root of unity.

For more  $q$ -congruences derived from transformations for basic hypergeometric series, we refer the reader to [2, 5]. Recently, the first author [4] applied Singh's quadratic transformation [1, Appendix (III.21)] to obtain some  $q$ -congruences, such as: for any positive integer  $n \equiv 1 \pmod{4}$ ,

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2 (q^2; q^4)_k}{(q^2; q^2)_k^2 (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/2} \frac{(q; q^4)_k^2 (q^2; q^4)_k}{(q^4; q^4)_k^3} q^{4k} \pmod{\Phi_n(q)^3}. \quad (1.2)$$

In this note, we shall deduce more  $q$ -congruences from Singh's quadratic transformation. Our first result can be stated as follows.

**Theorem 1.1.** *Let  $d \geq 2$  be an integer and  $x$  an indeterminate. Let  $n \equiv 1 \pmod{2d}$  be a positive integer. Then*

$$\sum_{k=0}^{(n-1)/d} \frac{(q; q^d)_k^2 (x; q^d)_k}{(q^d; q^d)_k (q^{d+2}; q^{2d})_k} q^{dk} \equiv \sum_{k=0}^{(n-1)/(2d)} \frac{(q; q^{2d})_k^2 (x^2; q^{2d})_k}{(q^{2d}; q^{2d})_k (q^{d+2}; q^{2d})_k} q^{2dk} \pmod{\Phi_n(q)^2}.$$

For  $d = 2$ , we obtain the following conclusion from Theorem 1.1.

**Corollary 1.2.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer and  $x$  an indeterminate. Then*

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2 (x; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(q; q^4)_k^2 (x^2; q^4)_k}{(q^4; q^4)_k (q^4; q^4)_k} q^{4k} \pmod{\Phi_n(q)^2}. \quad (1.3)$$

Note that the first author and Zeng [6, Theorem 2.5] have already obtained a related  $q$ -congruence: for any odd prime  $p$ ,

$$\sum_{k=0}^{(p-1)/2} \frac{(q; q^2)_k^2 (x; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv (-1)^{(p-1)/2} \sum_{k=0}^{(p-1)/2} \frac{(q; q^2)_k^2 (-x; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \pmod{[p]^2}. \quad (1.4)$$

For some generalizations of (1.4), see [3]. If we take  $x = -q$  or  $x = -q^2$  in (1.3), then we are led to the following two  $q$ -congruences: for  $n \equiv 1 \pmod{4}$ ,

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k (q^2; q^4)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(q; q^4)_k^2 (q^2; q^4)_k}{(q^4; q^4)_k (q^4; q^4)_k} q^{4k} \pmod{\Phi_n(q)^2}, \quad (1.5)$$

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2}{(q^2; q^2)_k^2} q^{2k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(q; q^4)_k^2}{(q^4; q^4)_k} q^{4k} \pmod{\Phi_n(q)^2}. \quad (1.6)$$

Letting  $n$  be a prime and  $q \rightarrow 1$ , then both (1.5) and (1.6) imply the following congruence: for any prime  $p \equiv 1 \pmod{4}$ ,

$$\sum_{k=0}^{(p-1)/2} \frac{\left(\frac{1}{2}\right)_k^2}{k!^2} \equiv 1 \pmod{p^2},$$

which was conjectured by Rodriguez-Villegas [17] in his study of hypergeometric families of Calabi–Yau manifolds and was first proved by Mortenson [16].

Letting  $x = 0$  in (1.3), we immediately get the following corollary.

**Corollary 1.3.** *Let  $d \geq 2$  be an integer. Let  $n \equiv 1 \pmod{2d}$  be a positive integer. Then*

$$\sum_{k=0}^{(n-1)/d} \frac{(q; q^d)_k^2 q^{dk}}{(q^d; q^d)_k (q^{d+2}; q^{2d})_k} \equiv \sum_{k=0}^{(n-1)/(2d)} \frac{(q; q^{2d})_k^2 q^{2dk}}{(q^{2d}; q^{2d})_k (q^{d+2}; q^{2d})_k} \pmod{\Phi_n(q)^2}. \quad (1.7)$$

Letting  $n = p$  be a prime and  $q \rightarrow 1$  in (1.7), we obtain the result: for any integer  $d \geq 2$ , and prime  $p \equiv 1 \pmod{2d}$ ,

$$\sum_{k=0}^{(p-1)/d} \frac{\left(\frac{1}{d}\right)_k^2}{k! \left(\frac{d+2}{2d}\right)_k 2^k} \equiv \sum_{k=0}^{(p-1)/(2d)} \frac{\left(\frac{1}{2d}\right)_k^2}{k! \left(\frac{d+2}{2d}\right)_k} \pmod{p^2}.$$

Besides, the  $d = 2$  case of (1.7) leads to the following  $q$ -congruence: for any positive integer  $n \equiv 1 \pmod{4}$ ,

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2 q^{2k}}{(q^2; q^2)_k (q^4; q^4)_k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(q; q^4)_k^2}{(q^4; q^4)_k^2} q^{4k} \pmod{\Phi_n(q)^2}. \quad (1.8)$$

By the proof of [9, Theorem 1], we know that the right-hand side of (1.8) is congruent to

$$q^{(n^2-1)/4} \frac{(q^{3-n}; q^4)_{(n-1)/4}}{(q^4; q^4)_{(n-1)/4}} \equiv (-1)^{(n-1)/4} q^{(n-1)(n+3)/8} \frac{(q^2; q^4)_{(n-1)/4}}{(q^4; q^4)_{(n-1)/4}} \pmod{\Phi_n(q)^2}.$$

Namely, we obtain the following conclusion due to Liu and Liu [13].

**Corollary 1.4.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer. Then*

$$\sum_{k=0}^{(n-1)/2} \frac{(q; q^2)_k^2 q^{2k}}{(q^2; q^2)_k (q^4; q^4)_k} \equiv (-1)^{(n-1)/4} q^{(n-1)(n+3)/8} \frac{(q^2; q^4)_{(n-1)/4}}{(q^4; q^4)_{(n-1)/4}} \pmod{\Phi_n(q)^2}. \quad (1.9)$$

Note that the  $q$ -congruence (1.9) may be regarded as a  $q$ -analogue of the first part of the following congruence conjecture by Z.-W. Sun [22, Conjecture 5.5]: modulo  $p^2$ ,

$$\sum_{k=0}^{(p-1)/2} \frac{1}{32^k} \binom{2k}{k}^2 \equiv \begin{cases} 2x - \frac{p}{2x}, & \text{if } p \equiv 1 \pmod{4} \\ & \text{and } p = x^2 + y^2 \text{ with } x \equiv 1 \pmod{4}, \\ 0, & \text{if } p \equiv 3 \pmod{4}, \end{cases}$$

which was confirmed by Tauraso [23] and Z.-H. Sun [21].

Our second result is the following  $q$ -congruence analogous to (1.3).

**Theorem 1.5.** *Let  $d \geq 3$  be an integer and  $x$  an indeterminate. Let  $n \equiv -1 \pmod{2d}$  be a positive integer. Then*

$$\sum_{k=0}^{(n+1)/d} \frac{(q^{-1}; q^d)_k^2 (x; q^d)_k q^{dk}}{(q^d; q^d)_k (q^{d-2}; q^{2d})_k} \equiv \sum_{k=0}^{(n+1)/(2d)} \frac{(q^{-1}; q^{2d})_k^2 (x^2; q^{2d})_k q^{2dk}}{(q^{2d}; q^{2d})_k (q^{d-2}; q^{2d})_k} \pmod{\Phi_n(q)^2}. \quad (1.10)$$

Letting  $x = 0$  in the above theorem, we get the following corollary.

**Corollary 1.6.** *Let  $d \geq 3$  be an integer. Let  $n \equiv -1 \pmod{2d}$  be a positive integer. Then*

$$\sum_{k=0}^{(n+1)/d} \frac{(q^{-1}; q^d)_k^2 q^{dk}}{(q^d; q^d)_k (q^{d-2}; q^{2d})_k} \equiv \sum_{k=0}^{(n+1)/(2d)} \frac{(q^{-1}; q^{2d})_k^2 q^{2dk}}{(q^{2d}; q^{2d})_k (q^{d-2}; q^{2d})_k} \pmod{\Phi_n(q)^2}. \quad (1.11)$$

Similarly as before, when  $n = p$  is a prime we may take  $q \rightarrow 1$  to obtain the following result: for any integer  $d \geq 3$ , and prime  $p \equiv -1 \pmod{2d}$ ,

$$\sum_{k=0}^{(p+1)/d} \frac{(-\frac{1}{d})_k^2}{k! (\frac{d-2}{2d})_k 2^k} \equiv \sum_{k=0}^{(p+1)/(2d)} \frac{(-\frac{1}{2d})_k^2}{k! (\frac{d-2}{2d})_k} \pmod{p^2}.$$

Besides, taking  $x = -q$  and  $d = 4$  in Theorem 1.5, we arrive at the following conclusion.

**Corollary 1.7.** *Let  $n \equiv 7 \pmod{8}$  be a positive integer. Then*

$$\sum_{k=0}^{(n+1)/4} \frac{(q^{-1}; q^4)_k^2 q^{4k}}{(q^4; q^4)_k (q; q^4)_k} \equiv \sum_{k=0}^{(n+1)/8} \frac{(q^{-1}; q^8)_k^2 q^{8k}}{(q^8; q^8)_k} \pmod{\Phi_n(q)^2}. \quad (1.12)$$

Letting  $n$  be a prime and  $q \rightarrow 1$  in (1.12) yields the following congruence: for any prime  $p \equiv 7 \pmod{8}$ ,

$$\sum_{k=0}^{(p+1)/4} \frac{(-\frac{1}{4})_k^2}{k! (\frac{1}{4})_k} \equiv 1 \pmod{p^2}. \quad (1.13)$$

Our last result is a  $q$ -congruence modulo  $\Phi_n(q)^3$ , which is a generalization of (1.3) for  $d = 2$  and  $x = q$ .

**Theorem 1.8.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer. Then*

$$\sum_{k=0}^{n-1} \frac{(q; q^2)_k^3}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(q; q^4)_k^2 (q^2; q^4)_k}{(q^4; q^4)_k^2} q^{4k} \pmod{\Phi_n(q)^3}. \quad (1.14)$$

However, we cannot obtain anything interesting when we let  $n$  be a prime and take  $q \rightarrow 1$  in (1.14).

The paper is organized as follows. We shall prove Theorems 1.1, 1.5, and 1.8 in Sections 2–4, respectively. In the final Section 5, we propose three conjectures on  $q$ -congruences, which are generalizations of (1.3) modulo  $\Phi_n(q)^3$ .

## 2. Proof of Theorem 1.1

Recall that the *basic hypergeometric series*  ${}_{r+1}\phi_r$  is defined by

$${}_{r+1}\phi_r \left[ \begin{matrix} a_1, a_2, \dots, a_{r+1} \\ b_1, b_2, \dots, b_r \end{matrix} ; q, z \right] = \sum_{k=0}^{\infty} \frac{(a_1; q)_k (a_2; q)_k \cdots (a_{r+1}; q)_k z^k}{(q; q)_k (b_1; q)_k \cdots (b_r; q)_k}.$$

Then Singh's quadratic transformation [1, Appendix (III.21)] can be stated as follows:

$${}_4\phi_3 \left[ \begin{matrix} a^2, b^2, c, d \\ ab\sqrt{q}, -ab\sqrt{q}, -cd \end{matrix} ; q, q \right] = {}_4\phi_3 \left[ \begin{matrix} a^2, b^2, c^2, d^2 \\ a^2b^2q, -cd, -cdq \end{matrix} ; q^2, q^2 \right], \quad (2.1)$$

provided that the two series terminate. It is clear that the  $d = 0$  case of (2.1) reduces to

$${}_3\phi_2 \left[ \begin{matrix} a^2, b^2, c \\ ab\sqrt{q}, -ab\sqrt{q} \end{matrix} ; q, q \right] = {}_3\phi_2 \left[ \begin{matrix} a^2, b^2, c^2 \\ a^2b^2q, 0 \end{matrix} ; q^2, q^2 \right], \quad (2.2)$$

provided that the two  ${}_3\phi_2$  series terminate. The transformation (2.2) may be considered as a  $q$ -analogue of Gauss' quadratic transformation

$${}_2F_1(2a, 2b; a + b + \tfrac{1}{2}; z) = {}_2F_1(a, b; a + b + \tfrac{1}{2}; 4z(1 - z))$$

when the two series terminate.

We first use (2.2) to build a parametric generalization of Theorem 1.1.

**Theorem 2.1.** *Let  $d \geq 2$  be an integer and let  $a$  and  $x$  be indeterminates. Let  $n \equiv 1 \pmod{2d}$  be a positive integer. Then, modulo  $(1 - aq^n)(a - q^n)$ ,*

$$\sum_{k=0}^{(n-1)/d} \frac{(aq; q^d)_k (q/a; q^d)_k (x; q^d)_k q^{dk}}{(q^d; q^d)_k (q^{d+2}; q^{2d})_k} \equiv \sum_{k=0}^{(n-1)/(2d)} \frac{(aq; q^{2d})_k (q/a; q^{2d})_k (x^2; q^{2d})_k q^{2dk}}{(q^{2d}; q^{2d})_k (q^{d+2}; q^{2d})_k}. \quad (2.3)$$

*Proof.* Making the parameter substitutions  $q \mapsto q^d$ ,  $a = q^{(1-n)/2}$ ,  $b = q^{(1+n)/2}$ , and  $c = x$  in Singh's transformation (2.1), we obtain

$${}_3\phi_2 \left[ \begin{matrix} q^{1-n}, q^{1+n}, x \\ q^{(d+2)/2}, -q^{(d+2)/2} \end{matrix} ; q^d, q^d \right] = {}_3\phi_2 \left[ \begin{matrix} q^{1-n}, q^{1+n}, x^2 \\ q^{d+2}, 0 \end{matrix} ; q^{2d}, q^{2d} \right].$$

Namely, the two sides of (2.3) are equal for  $a = q^{\pm n}$ . Hence, the  $q$ -congruence (2.3) holds modulo  $1 - aq^n$  and  $a - q^n$ . Since  $1 - aq^n$  and  $a - q^n$  are coprime polynomials in  $q$ , we complete the proof.  $\square$

*Proof of Theorem 1.1.* Since  $n \equiv 1 \pmod{2d}$ , we know that  $\gcd(2d, n) = 1$ . Therefore, when  $d \geq 2$  the polynomials

$$(q^d; q^d)_k (q^{d+2}; q^{2d})_k \quad (0 \leq k \leq (n-1)/d)$$

and

$$(q^{2d}; q^{2d})_k (q^{d+2}; q^{2d})_k \quad (0 \leq k \leq (n-1)/(2d))$$

are all coprime with  $\Phi_n(q)$ . Furthermore, the polynomial  $1 - q^n$  contains the factor  $\Phi_n(q)$ . The proof of (1.3) then follows from the  $q$ -congruence (2.3) by setting  $a = 1$ .  $\square$

### 3. Proof of Theorem 1.5

Similarly as before, we need to establish the following parametric generalization of Theorem 1.5.

**Theorem 3.1.** *Let  $d \geq 3$  be an integer and  $a$  an indeterminate. Let  $n \equiv -1 \pmod{2d}$  be a positive integer. Then, modulo  $(1 - aq^n)(a - q^n)$ ,*

$$\begin{aligned} & \sum_{k=0}^{(n+1)/d} \frac{(aq^{-1}; q^d)_k (q^{-1}/a; q^d)_k (q^{d+1}; q^{2d})_k q^{dk}}{(q^d; q^d)_k (q^{d-2}; q^{2d})_k} \\ & \equiv \sum_{k=0}^{(n+1)/(2d)} \frac{(aq^{-1}; q^{2d})_k (q^{-1}/a; q^{2d})_k (q^{2d+2}; q^{2d})_k q^{2dk}}{(q^{2d}; q^{2d})_k (q^{d-2}; q^{2d})_k}. \end{aligned} \quad (3.1)$$

*Proof.* Performing the parameter substitutions  $q \mapsto q^d$ ,  $a = q^{-(n+1)/2}$ ,  $b = q^{(n-1)/2}$ , and  $c = q^{d+1}$  in (2.1), we get

$${}_3\phi_2 \left[ \begin{matrix} q^{-n-1}, q^{n-1}, q^{d+1} \\ q^{(d-2)/2}, -q^{(d-2)/2} \end{matrix} ; q^d, q^d \right] = {}_3\phi_2 \left[ \begin{matrix} q^{-n-1}, q^{n-1}, q^{2d+2} \\ q^{d-2}, 0 \end{matrix} ; q^{2d}, q^{2d} \right].$$

Namely, both sides of (3.1) are equal for  $a = q^{\pm n}$ . This proves that (3.1) is true modulo  $1 - aq^n$  and  $a - q^n$ .  $\square$

*Proof of Theorem 1.5.* Since  $d \geq 3$ ,  $n \equiv -1 \pmod{2d}$ , we conclude that  $\gcd(2d, n) = 1$  and the polynomials

$$(q^d; q^d)_k (q^{d-2}; q^{2d})_k \quad (0 \leq k \leq (n+1)/d)$$

and

$$(q^{2d}; q^{2d})_k (q^{d-2}; q^{2d})_k \quad (0 \leq k \leq (n+1)/(2d))$$

are all coprime with  $\Phi_n(q)$ . The proof then follows from the  $q$ -congruence (3.1) by taking  $a = 1$ .  $\square$

### 4. Proof of Theorem 1.8

Likewise, we first give a  $q$ -congruence with an extra parameter  $a$ .

**Theorem 4.1.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer and  $a$  an indeterminate. Then, modulo  $\Phi_n(q)(1 - aq^n)(a - q^n)$ ,*

$$\sum_{k=0}^{n-1} \frac{(aq; q^2)_k (q/a; q^2)_k (q; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(aq; q^4)_k (q/a; q^4)_k (q^2; q^4)_k}{(q^4; q^4)_k^2} q^{4k}. \quad (4.1)$$

*Proof.* Letting  $q \mapsto q^2$ ,  $a \rightarrow \sqrt{aq}$ ,  $b \rightarrow \sqrt{q/a}$ , and  $c = q^{1-n}$  in (2.1), we have

$${}_3\phi_2 \left[ \begin{matrix} aq, q/a, q^{1-n} \\ q^2, -q^2 \end{matrix}; q^2, q^2 \right] = {}_3\phi_2 \left[ \begin{matrix} aq, q/a, q^{2-2n} \\ q^4, 0 \end{matrix}; q^4, q^4 \right],$$

which can be written as

$$\sum_{k=0}^{n-1} \frac{(aq; q^2)_k (q/a; q^2)_k (q^{1-n}; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} = \sum_{k=0}^{n-1} \frac{(aq; q^4)_k (q/a; q^4)_k (q^{2-2n}; q^4)_k}{(q^4; q^4)_k^2} q^{4k}. \quad (4.2)$$

Since  $q^n \equiv 1 \pmod{\Phi_n(q)}$ , and the polynomials  $(q^2; q^2)_k (q^4; q^4)_k$  and  $(q^4; q^4)_k^2$  are coprime with  $\Phi_n(q)$  for  $0 \leq k \leq n-1$ , we deduce from (4.2) that (4.1) is true modulo  $\Phi_n(q)$ .

On the other hand, the  $d = 2$  case of (2.3) implies that, modulo  $(1 - aq^n)(a - q^n)$ ,

$$\sum_{k=0}^{(n-1)/2} \frac{(aq; q^2)_k (q/a; q^2)_k (q; q^4)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{(n-1)/4} \frac{(aq; q^4)_k (q/a; q^4)_k (q^2; q^4)_k}{(q^4; q^4)_k^2} q^{4k},$$

which is equivalent to (4.1) modulo  $(1 - aq^n)(a - q^n)$ . This is because  $(aq; q^4)_k (q/a; q^4)_k$  incorporates the factor  $(1 - aq^n)(1 - q^n/a)$  for  $(n-1)/4 < k \leq (n-1)/2$ . Noticing that  $\Phi_n(q)$  is coprime with  $(1 - aq^n)(a - q^n)$ , we accomplish the proof.  $\square$

*Proof of Theorem 1.8.* Letting  $a = 1$  in (4.1), we obtain the desired  $q$ -supercongruence (1.14).  $\square$

## 5. A generalization of (1.13)

We find that the congruence (1.13) has the following generalization: for any prime  $p \equiv 3 \pmod{4}$ ,

$$\sum_{k=0}^{(p+1)/4} \frac{(-\frac{1}{4})_k^2}{k! (\frac{1}{4})_k} \equiv (-1)^{(p+1)/4} \pmod{p^2}. \quad (5.1)$$

In fact, we have the following  $q$ -analogue of (5.1).

**Theorem 5.1.** *Let  $n \equiv 3 \pmod{4}$  be a positive integer. Then modulo  $\Phi_n(q)^2$ ,*

$$\sum_{k=0}^{(n+1)/4} \frac{(q^{-1}; q^4)_k^2 q^{4k}}{(q^4; q^4)_k (q; q^4)_k} \equiv (-1)^{(n+1)/4} q^{(n^2-1)/8}. \quad (5.2)$$

*Proof.* We first establish the following  $q$ -congruence:

$$\sum_{k=0}^{(n+1)/4} \frac{(aq^{-1}; q^4)_k (a^{-1}q^{-1}; q^4)_k q^{4k}}{(q^4; q^4)_k (q; q^4)_k} \equiv (-1)^{(n+1)/4} q^{(n^2-1)/8} \pmod{(1 - aq^n)(a - q^n)}. \quad (5.3)$$

Recall that the  $q$ -Chu-Vandermonde summation [1, Appendix (II.6)] can be written as

$${}_2\phi_1 \left[ \begin{matrix} a, q^{-n} \\ c \end{matrix}; q, q \right] = \frac{(c/a; q)_n a^n}{(c; q)_n}. \quad (5.4)$$

Letting  $q \mapsto q^4$ ,  $a \mapsto q^{n-1}$ ,  $n \mapsto (n+1)/4$ , and  $c \mapsto q$  in (5.4), we have

$$\sum_{k=0}^{(n+1)/4} \frac{(q^{n-1}; q^4)_k (q^{-n-1}; q^4)_k q^{4k}}{(q^4; q^4)_k (q; q^4)_k} = (-1)^{(n+1)/4} q^{(n^2-1)/8}. \quad (5.5)$$

which is just the  $a = q^{\pm n}$  case of (5.3). It is easy to see that the denominators of (5.3) are all coprime with  $\Phi_n(q)$ . The proof of (5.2) then immediately follows from the  $a = 1$  case of (5.3).  $\square$

## 6. Some open problems

Numerical calculation implies that the  $q$ -congruence (1.8) holds modulo  $\Phi_n(q)^3$  when both sides are summed over  $k$  up to  $n-1$ . Namely, we have the following conjecture.

**Conjecture 6.1.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer. Then*

$$\sum_{k=0}^{n-1} \frac{(q; q^2)_k^2}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(q; q^4)_k^2}{(q^4; q^4)_k^2} q^{4k} \pmod{\Phi_n(q)^3}.$$

*In particular, if  $n \equiv 1 \pmod{4}$  is a prime, then*

$$\sum_{k=0}^{p-1} \frac{1}{32^k} \binom{2k}{k}^2 \equiv \sum_{k=0}^{p-1} \frac{(\frac{1}{4})_k^2}{k!^2} \pmod{p^3}.$$

It is natural to believe that Conjecture 6.1 have a parametric version as follows:

**Conjecture 6.2.** *Let  $n \equiv 1 \pmod{4}$  be a positive integer and  $a$  an indeterminate. Then, modulo  $\Phi_n(q)(1 - aq^n)(a - q^n)$ ,*

$$\sum_{k=0}^{n-1} \frac{(aq; q^2)_k (q/a; q^2)_k}{(q^2; q^2)_k (q^4; q^4)_k} q^{2k} \equiv \sum_{k=0}^{n-1} \frac{(aq; q^4)_k (q/a; q^4)_k}{(q^4; q^4)_k^2} q^{4k}. \quad (6.1)$$

Note that the  $d = 2$  and  $x = 0$  case of Theorem 2.1 means that the  $q$ -congruence (6.1) is true modulo  $(1 - aq^n)(a - q^n)$ . It remains to prove that (6.1) is also true modulo  $\Phi_n(q)$ . Although we cannot prove it at the moment being, we find the following more general conjecture.

**Conjecture 6.3.** *Let  $n$  be a positive odd integer and  $x, y$  indeterminates. Then*

$$\sum_{k=0}^{n-1} \frac{(x; q)_k (y; q^2)_k}{(q; q)_k (xyq; q)_k} q^k \equiv \sum_{k=0}^{n-1} \frac{(x; q^2)_k (y; q^2)_k}{(q^2; q^2)_k (xyq; q^2)_k} q^{2k} \pmod{\Phi_n(q)}. \quad (6.2)$$

It is not difficult to see that the  $q$ -congruence (6.1) modulo  $\Phi_n(q)$  follows from (6.2) by making suitable parameter replacements. By induction on  $n$ , we can show that

$$\sum_{k=0}^{n-1} \frac{(x; q)_k}{(q; q)_k} q^k = \frac{(xq; q)_{n-1}}{(q; q)_{n-1}}.$$

Since  $(xq; q)_{n-1}$  is congruent to  $(xq^2; q^2)_{n-1}$  modulo  $\Phi_n(q)$ , we conclude that Conjecture 6.3 is true for  $x = 0$  or  $y = 0$ .

**Acknowledgement.** The authors thank the two anonymous referees for careful readings of a previous version of this paper.

## References

- [1] G. Gasper and M. Rahman, Basic Hypergeometric Series, second edition, Encyclopedia of Mathematics and Its Applications 96, Cambridge University Press, Cambridge, 2004.
- [2] G. Gu and X. Wang, Proof of two conjectures of Guo and of Tang, J. Math. Anal. Appl. 541 (2025), Art. 128712.
- [3] V.J.W. Guo, Some  $q$ -congruences with parameters, Acta Arith. 190 (2019), 381–393.
- [4] V.J.W. Guo, Some  $q$ -supercongruences from Singh’s quadratic transformation, Chinese Ann. Math. Ser. B, to appear.
- [5] V.J.W. Guo and M.J. Schlosser, Some  $q$ -supercongruences from transformation formulas for basic hypergeometric series, Constr. Approx. 53 (2021), 155–200.
- [6] V.J.W. Guo and J. Zeng, Some  $q$ -analogues of supercongruences of Rodriguez-Villegas, J. Number Theory 145 (2014), 301–316.
- [7] V.J.W. Guo and J. Zeng, Some  $q$ -supercongruences for truncated basic hypergeometric series, Acta Arith. 171 (2015), 309–326.
- [8] V.J.W. Guo and W. Zudilin, A  $q$ -microscope for supercongruences, Adv. Math. 346 (2019), 329–358.
- [9] V.J.W. Guo and W. Zudilin, On a  $q$ -deformation of modular forms, J. Math. Anal. Appl. 475 (2019), 1636–646.
- [10] H. He and X. Wang, Some congruences that extend Van Hamme’s (D.2) supercongruence, J. Math. Anal. Appl. 527 (2023), Art. 127344.
- [11] J.-C. Liu, Some supercongruences on truncated  ${}_3F_2$  hypergeometric series, J. Difference Equ. Appl. 24 (2018), 438–451.
- [12] J.-C. Liu, On Van Hamme’s (A.2) and (H.2) supercongruences, J. Math. Anal. Appl. 471 (2019), 613–622.

- [13] J.-C. Liu and J. Liu, A  $q$ -supercongruence arising from Andrews'  ${}_4\phi_3$  identity, *Bull. Aust. Math. Soc.* 111 (2025), 223–227.
- [14] Y. Liu and X. Wang, Some  $q$ -supercongruences from a quadratic transformation by Rahman, *Results Math.* 77 (2022), Art. 44.
- [15] L. Long and R. Ramakrishna, Some supercongruences occurring in truncated hypergeometric series, *Adv. Math.* 290 (2016), 773–808.
- [16] E. Mortenson, A supercongruence conjecture of Rodriguez-Villegas for a certain truncated hypergeometric function, *J. Number Theory* 99 (2003), 139–147.
- [17] F. Rodriguez-Villegas, Hypergeometric families of Calabi–Yau manifolds, in: *Calabi-Yau Varieties and Mirror Symmetry* (Toronto, ON, 2001), *Fields Inst. Commun.*, 38, Amer. Math. Soc., Providence, RI, 2003, pp. 223–231.
- [18] H. Song and C. Wang, Further generalizations of the (A.2) and (H.2) supercongruences of Van Hamme, *Results Math.* 79 (2024), Art. 147.
- [19] Z.-H. Sun, Congruences concerning Legendre polynomials II, *J. Number Theory* 133 (2013), 1950–1976.
- [20] Z.-H. Sun, Generalized Legendre polynomials and related supercongruences, *J. Number Theory* 143 (2014), 293–319.
- [21] Z.-H. Sun, Congruences concerning Legendre polynomials, *Proc. Amer. Math. Soc.* 139 (2011), 1915–1929.
- [22] Z.-W. Sun, On congruences related to central binomial coefficients, *J. Number Theory* 131 (2011), 2219–2238.
- [23] R. Tauraso, An elementary proof of a Rodriguez-Villegas supercongruence, preprint (2009), arXiv:0911.4261v1.
- [24] L. Van Hamme, Some conjectures concerning partial sums of generalized hypergeometric series, in:  *$p$ -Adic Functional Analysis* (Nijmegen, 1996), *Lecture Notes in Pure and Appl. Math.* 192, Dekker, New York, 1997, pp. 223–236.